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Inrections : For the next six (08) questions that|4.  What is the number of people who know

follow : English only 7
In a state with a population of 7§ % 105, 45%

of them know Hindi, 22%: know Engligh, 18%
know Sanskrit, 12% know Hindi and English, (b} 45 % 107
8% know English and Sansknt, 10% know
Hindi and Sansknt and 5% know all the three

(a] 5x 10%

c] 4% 10°

languages. -fdy None of the above

1. What is the number of people who do not |8  What is the number of people whe know

know any of the above three languages ? only one lenguage ?
fah 3% 109 {#) 8% 10°
by 4 x 108 (b 4 x 108
) 3x107 (¢p 8x 107
(d) 4% 107 () 4% 107

6. What is the number of people whe know

a, iz th f
What is the number of people who know SR T

Hindi nnly ¥

(@) 21 % 108 fa} 1126 x 109
by 25 x 10° b 11-25 x 10¢
(cy 28 x 108 . (4 12 x 10°
(d) 3% 107 () 125 x 10°

7. VLYhat is the depree of the equaiion

3. What ia the number of poople who know 1 1 1,
Sanskrit only ? -8 x+2 2
{a) 5 x10° thy B
(b 46 x 10° {E, 1
ey 4x 108 by 2
(d)  Mone of the ahove Hy 3

B-MCZ-AM-LZS (2~ A}




e : 3t 3 T 5 o) v & B

75 % 10° & F=gen o ol v A, &

= e £, 226 A A0S FEd & 18% ®

Wepn A &, 12% o R 3R S
8% = MF AR Gepa T £, 10% o
3% TEpT FE E T 5% @ ATy
1

1L 3w AR vl ¥ S v W v s I

T

fel 3w 108

{(b) 4 x 108
(@ 3x107

d 4% 107

am fordl TP TR A S SR T 2
(a) 21x 10°
(b) 25 108
() 26 x 10°

(d) 3x1¢?

8, AT FEpd I A A Bl e w g
(a) 5% 108

(b) 45 x 10°

4 % 108 |

e o G B w8

{e)

td)

B-WMCZ- M1 25

4,
{a) 5x 10®
e e
(h) 45 = 10°
T
=2 O 4% 1
TR

(@) w43 DE T8

2 T

() 3x10°

(b} 4 x 10f

c) 3x107

(d)y 4x107

{a) 1125 x 107

by 1125 x 108
ey 12 x 10°

(d) 125 x 10°

o1 s WLFL
X—4 At

(a}) 0

by 1

e} 2

(d} 3
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8.  Which vne of the following 18 a oull set 7 | [12.

fay (O
RO
fet 141}

@ ix|x*+1=D,xeR

9. It A=i{xy, B=12 8, €=I(3 4,
what ie the number of elemenis in
AxIBUCH?

fa] 2
thy 4
e} 6

(dy &

10. What is the valve of log, x° log, ¥* log, 2% 7

(a) 10
(bl 20
(c) 30
(d) 60

11. TIf A is a relation on a set R, then which |

one of the following i3 correct 2
al RgA

) AR

() Ag®xR)

(dl R o (Ax A

B-MCZ-M-LZS

then

15.

t4-A)

Let N be the szsat of =netwral noembers
and £: N - N be a fonttion given by
fix) = x + 1 for = & ™. Which one of the
followimg is correct 7

{a)  {iz ope-ome end onio
th) fis one-oneg but nat onte
{e) f iz only onto

@} { iz nether one-one nor onto

If the sum of the roots of a goadreatic
egnation is 3 and the product ia 2, then the
equation i

fa] 2x>-x+3=0
(B x*-8x+2=0
() x> 4+38x+2=0

@ x* +82x-2=0

3

W @ and P are the roots of the eguation
%% + bx + ¢ = 0, then what is the value of
et 4 gy

{a) ~bfe
{b) ble
(e} 'cfb
(d) -eob

The area of & rectangle whose length s five
more than twice itz width i= 756 sguare nraf.
The length is '

() 5 unit

(b} 10 unit
(e 15 unit
(d) 20 nnit



10.

11,

B-MCZ-M-LZS

Frafafes § 3 20w ve, Re Tgeg & 2
(@) 0]
thy  1401]
€ 141}

d Ix|x+1=0,x¢€ R

g A=Ix vy, B=12, 3} C =134}
Ax(BUC) ¥ s & gEr e & 7

l::'gy:r.5 Eog‘yshlgzza DAATAE ?
(a) 10
(b
e} 30

td) 60

o BH wem R # A o Tww AL oA
Prtfam dds-amad 2 2

fa) R A

ibl ACE
(¢} Ac(RxE}

() Ro(AxA)

12,

3.

14,

14,

b5 — A

p

o= @fie & N gowial o e & o
wH NN, fl))=x+1, xe N ¥ @e
RIEm T 2 FeafdfEg 4 Yehwmwm
B2

f ey 37 s @

f e 2 feg IreRs A

{ e RS #

£3 & vhat 3k 5 & s §

(al
{b}
(el

(d}

ofz Tl T oiiemor & o9 @ gwsw 3 & o
UG £ 8, 7 98 - Sl 2

fa) 2% ~x+3=0

by **—3x+2=0
) % +3x+2=0

52+3}E-'2=ﬂ

(d)

o WiEv x2 + bx +c =0 aitjﬁuﬂmﬂg,?h
u‘1+[.‘fl HUHFTE ?

ta) —bfc
(b) bfe
¢y ofb
(d) —-cfb

fait s @, foradh evad SO disE g ¥
5 atE & dEmer 75 9 3oE 2 | e weai
et & 2

5§01
10 5%
15 5mig
20 FEE

[a)
(b}
i)

{d}



16. What is ‘f:. where { = /—1 equal to ? 19,

(a) ib
2
(b) i.}_ﬂ
2
1-4
)y o+
{c 5
(d) 11;‘ 20,

17. What is the argument of the complex number
(—1—i) where i= /-1 7

(a) 5m
4
21,
b - on
4
@ 3
4

{d) None of the above

18. If 4*-6.2* + 8 = 0, then the values of x are |99

(@ 1,2
(b) 1,1
) 1,0
d 22

B-MCZ-M-LZS {6 - A)

A bag contains balls of two colours, 3 black
and 3 white, What is the smallest number of
balls which must be drawn from the hag,
without looking, so that among these there
are two of the same colour ?

(a) 2
(b 38
() 4
(d 5

What is the sum of the coefficients in the

expansion of (1 + x)" ?

(a) 2"

(by 2"-1
(¢) 2n-1
(d) n+1

If P(77, 31) = x and C(77, 31) = y, then
which one of the following is correct ?

(a) x=y
(b) 2x=y
(c) T7x =31y

(d) x>y

The binary representation of the decimal

number 45 is

(a) 110011
(b) 101010
{¢) 1101101

(d) 101101



17,

i8.
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(a8} + s
{h)

e} +—w
(d) +——

o

Wr e 1 -0 EMLFE O = o1,

wTE 7

&) o
4

b
T e
ib) y

o
1

e | B a1 aF

d)

gt 4% -6.254+ 8=0, A x5 A FTE.7
@ L2
) 1,1
() 1,0

d) 22

15.

it wiwey 0 3 et st 3 wilse, < ot a1 <l
& ) 39 o 7 ¥ for 2, sgeem Pt wem W 2
Perral B ad T mEEa S e

fa] 2

h) 3

el 4

&y &

{1+%)® & g8 7 (ot &1 dmwe @ g P
(a) 2"

2"~ 1

alg P77, 31 = x ¥R Q7T an =
PR f Ao a2 ?

v, 1

(a}
() 2x=v¥w
fe) 77x=3Ly

d) zx=¥w

zomng waEn 45 o ol fem g d 2

fad 110041

{b) 101010
() 1101101

{d) 101101



28. If the roots of a quadratic cquation
ax’ + bx + ¢ = 0 are o and [}, then the
guadratic equation having roots of and {* s

fa) *»~(b®-Zaclg+e=0

b)) 82x® — b’ —Zachx+e=0
ey ax? —1h? —Gacia 4+ =0
(dr a%® (W% -dacix+c=0
24. I the ropts of the cnuation 3ax” + Zbx +¢= 0
are in the ratio 2 - 8, then which one of the
following i3 eorrect ?
{a} Baes= 35b
(b)  8ac = gh
e 8b% = Bac
(d}  8b? = Z5ac
25.  Two straight Yine paths are veprosented by the
eqaations 2x ~y =2 and - 4x + 2y = 6,
Then: the peths will
(3} cross cach other at one point
(b} not crosa cach pther
(£} cross cach other at two peints
id) cross cach other al infinitaly many
pointa
26. For what voiue of k, the equations Jx— 3 = 8
and 3z - ky = 24 will have infinitely many
solutions 7
fal 6
b} &
(gl 3
dj 1

B-MCZ-M-LZ5 {8~

27,

If the momherz 0 -5, 4n —%, 5n + 1 are in
what is the value of 11 #

28,
one rexl rect
B two real roots

) bwo impaginary roots

four real rooly

29. Jf A and B arc two non-singular squarce

atrices such that AB = A, then which ane
f the following is correct ?

B is an identity matrix

B=4"

tc; B =A%

Dieterminant of B 15 zero

a0, | What 1= the value of the mingr of the element

j10 19 2
& in the delerminant |0 13 117
|8 24 2
{a) -9
by —°7
) 7
4y 0



23.

afr fear Wi ax® + bx + ¢ = 0% Ty o 3l

27,

pEl, @ o 3R (7 T aen Bem wdeRe | o,

22

fa) x° —(p*-Zaclx+c=10

(b) u4°x* _(b%*—2ackx+ec=0
axE-—ihg—‘lac}xaunz =0

a%x? (b —2a0)x + 2 =0

e

(D

24, o FHETOT 3ax? + Zhx + ¢ = 0 F ¥ 2

g2

Bac = Z5b
ﬁlii.l.’:-;ﬂ:ln

sb2 = 9a¢

£y
ih
(e}

(d) 8b2

25ac

26.

FammubeimiEwed | waw
I o 0P fig W e
T5-ZR @ T8 B

rE-TR @ @ s w @

{a)
{b)
{e)
(d}

ks fpgus & Fe, wffew 3x-y=8
O — ky = 24 & AT 3D TG 801 7

26.

ia) &
thl &
{e} 3

td)y 1

B-MCZ-M-LZ5

(3
FOre & A1, @ Feifed § 9 @ gm ad

TERO Ox —y = 2T —4x + Ly - S TAD

v TR B e 20 B S wy

{

ey

28,

29,

30.

9« A

A Wl n—3, 4n— 2, 50+ 1 AR A4S
(AMB R Mo THERTE ?

fay 1
thy 2
e 3
ey 4

x+1P2-1=0myF

{a) uH walae g @

(by & arwfeE g &

(c} @i Hirelega qa &

(d} =R TS g 2

ik AR B 2 rewita o 3negE 39 0eR & B
AB=A i ildshamal i

R ® feaas Wi &

B=A"!

(al

(i)

() B=A®

() B RS g &
10 18 2

wRm | 6 13 1| B 3w 9 5 warvm H

4 22 2

HA &G 7

(a)
ik
el 7

(d) 1



31. 'The roots of the equation 38,  Consider the following statements -

1 t—1 1 g A matrix is not 4 number.
-1 1 1 =005 2. Two determinants of differenl worders
may have the same value
1 ] t-1
Whith of the above statements isfare
correct ?
fal 1,2
{a) 1 onl
(bl —1.2 ’ <
by 2onl
cd 1, -2 ®) y
(el RBoth 1 and 2

m P d}  Meither 1 nor 2

82. The value of the determinant (p m n

n p m

{a) is a perfect cube 36, What iz the value of tan 105% ?
(b) s a perflect square 4351
(a) 1
{c) has linear factor
341
) la zer by 23t
1-V3
33. The determinant of an orthogonal matrix is K
-1
{a) 1 Ly
b} 2
(d) %
{ct 0 3 -1

) o
3 HtenA=x+1 and tanB=x -1, then

34. IfDi= a determimant of order 3 and D’ 19 the 2 .
: A x* tan (A — B) has the val
detierminant obtamed by replacing the ame
elements of D hy their cofactors, then which

one of the following is correct ? gy 1
Dl T 3
ia) D by =x
(b} D' =D°
e} 0
{E_}r . = 3])2
(d) 2
(@ D =3D

B-MCZ-M-LZS {10 - A}




1 -1 1 35. | f=feRen wasi ot e fm
31, wimwr [t-1 1 1 =0 ¥ O we-R 1. 3egg, W= T8 8 |
1 1 t-1 2 Y= o D e b e wE a8
£ T & | .
fay 1,2 . .
W 14 IR T A W eE-E a2
(¢) 1.-2 {a) @A 1
)y -1,-2
(b} &7 2
| m n op (@) 1324
32,  umbrmm '
£ S8 | SRR @y TAL A E L
il [ ¥] el
98, | tan L05° & o= FoT & 7
() ‘lﬂfﬂﬂ'ﬁ' ! " ¢
(a) V3 41
(by oot ol V3 -1
(¢) Yaw TUERETE ET B fer
k) =
d) T 1-v3
V31
33, vaeu wEE o T w2 (e} g
fal #£1
(b) J2+2
d1 ~
(¢) ¥ ﬁl
{d) t2
27, 1% tanbex+1 MM tanBa=x-1, T
34, 72D, 3#ME 5 o TR & @ D & s&ud) 3 x*tan (A-B) S A FAT E P
5 Teard ¥ gl o 3 F g g
D'ﬁ,?ﬁﬁﬁ%ﬁaﬁﬁ%ﬂi—mﬁﬂ-@%? el 1
v 2
L = B x
by ¥ =D
f¢) D¢ =3D2 te): @
(d) D= 3D* (dl 2

B-MCZ-M-LZ5 {11 - A)




42.

43,

44,

B8. What is ke value of
(6in? 6 ~ cos? @ 4 1) cosec? @ 7
ey -9
hy 0
¢y 1
0y 2
30. Ifd s the number of degrees contained th ao
angle, m s the pumber of mihutes and s is
the umber of seconds, then the value of
(s - m)/(m —d) iz
gy 1
(b} 60
{e}  1feg .
iy MNone of t'.:'w abgve
4D, The expression X toeseex—1 equal
col X —ooadac 5+ 1
(a) gin x
- Ll—rpax
(b 1 —‘m‘s X
8in x
fel i +L£'-:'.~5 X
gin %
@ aip % .
l+cogs
I~tan® 2
41, Whaiis ~ equal to ?
1+ \?.81.1'!ﬂ x
2
fal enx.coEx
b tan x
(¢} s&inx
{dy cos x
B-MCZ-M-LZ5 {12 -

¥n any triangle ABC, a = 18 b = 24 and ¢ = 30,
Then what.is sin € equaltn

fa} 1/
(b) /3
(e) 1/2
(d) 1
If &in-? [—E— + sin™? —-~—E~2— =2 tan™} X,
A+a +h
then x is aqual to
a—b
{al Trah
a~b
b
e 1-ab
(6 222
a+h
a+h
fd]  ——r
1-ahb

A man walks 10 w towsrds a lamp post and
notices that the aigle of elevation of the top of
the post increases from 30° to 45°, The height
of the lamp pesi is

{2y 1Wm

) (542 + 5rm
{e) (543 - &y m
@) (1045 + 1 m

The shadow of & towor standing on a level
plane i& foand o be 50 m longer when the
Sun's elevation ig 30 than whew it 12 60° The
height of the tower is

{a' 25 m
(b) 288 m
fc) S0m

{d} None of the above



38,

39,

41,
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{sin® 6 — cos & + 1) cosect 0 B AT FAE 7
fa) -2

(B ©

{e} 1

) 2

Rt o7 & Rt At e d, et @ S m
i dwvE] @) T s &, AW (5 - m)fim - d) @
we wm e

() 1
by 60
(e} 1/60

() I ¥ § o

eot ¥ + coser x — 1
SAE _ o R E P
cot ¥ —cozee X+ 1

gin x
1-eoEx

{al

1—cosx

(o}

sl x

1+cosx

—_— rer——

EIN X

{c)

$in X

T +ceosx

inx . oo x
tan x
Cominx

L05 X

43,

42,"

45,

{13 - A

el BYF ABCH, a=18, b=24 T ¢=30
%) o s CTFOS WETE 7

far 1/4
(b)Y 173
1/2

td}

B @ o= W U A AW 10 m ged 93 T
2 i 79w O & TR @ 3Re B 30° A 9

FAS BT IR | 39 Y U S g o

fa) 10 m

thl (53 + 51 m
e} (5v3 =3 m

(d} (1043 + 10) m

waae W @R il AR @ g9 ¥ 800 e W
w W, wd & 60° FHTH W A i # e
50 m At & & | PR S IoR w2 ¢

(a)
(b

25 m
2843 m
Bl m

s ¥ A B 79

Ll
id)



46.

47.

d8.

49,
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The angte of olevation of the top of a tower of
height H from the foot of ancther tower in the
same plane iz 60° and the angle of elevation of
the top of the second tower from the faat of
the first tower is 30° If h ia the height of the
nther tower, then which one of the bllowing is
correct ?

ta) H =2h

(b) H=3h

{fe) H =3h

(d) None of the above

If cosec O + cot & = ¢, then what is cot ©

aqual to ?

(8) —=

{1 .

{o)

e?+1
(d) MNone of the above
If sinG+Zeoefh=1 then what is
% 8in B —cos 0 equal to 7
{a) O
(b) 1
le) 2
(d} 4

If A+B =90° then whal is
Jein A 5e¢ B — sin Acos B equal 1o ?

{a}) sn A
(b1  cos A
el tan A

(dl 0

51,

D2,

a3

{14 - A

What iz tan® A — zec? A 4+ tan® A + gec? A
equal to 7

ta} 0
by 1
fe) 2
dy -1

Whach one of the following pointe lies ingide a
circle of radiua § and centre at (3, 50 7

(a) (-2,-1]
{b)
(€) (=1,~2
{d)

(o, 1)

(2, -1)

What is the equation of 2 straight line which
paesed through (3, 4) and the sum of whoae
and y intercepts ias 14 ?

(al 4x 4+ gy =24
(k) X+y= 14
£y Ax =3¢ =1

(d) 3x + 4y =25

The equation of the ellipse whose vertices are
at (1 5, 0) and foci at (4, 0) is

(a) :—:-rfgnl
b} §+§;=1
e %+£=1
{d} §+§=1




46, HEFR @ BT s Rmy @ T weE

47,

48.

48,
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W dR & M D = T W a0 €, it
R & R o e TAR & R ¥ & =
B 80° % | ARz DR B Tod h B, A
P dd o m e g ?

H=%h
H=3h
H=3h

3w #f § 2 T

(al
(b}
(e)
(d)

TR cosecd +cot B =c, 7 cos 6 FEOH e R ?

C

[
2 c2~1

£

(h)
I:.2 +1

cz—l
o2 +1

B

{c)

(d)

o sinBG + 2cos@=1, d& 2gind—cosd
s e t?

{a)
(b)
(e}
(dy

- R - o

ﬂﬁﬂi’ﬂ:w‘ ad
Jsin A sec B — sin Acos B 6% IWAC & 7

{a) =in A

(h} cos A
i) tan A

(dy 8

5

51.

a2,

53.

{156 - A}

SRL-Y

tan? A—gec? A + tan® A +sec? A Tiern aUEw
z7 '

(e) 0

by 1

fc) 2

¢y -1

e 6 o &2 (3, 5) 99 g9 F I FEloTE
il ivoh-mees Bgfaad ?

@) =2,-1)
{b) @ 1
(g} (=1, -2

gy 2,-1

By TRE T @, S (3, 4) A TERat & dur A x
Td v 3R] @ Ane 14 2, Wiiever @ 2 P
fa) 4x + 3v =24
E+y=14
fe) 4x-3y=10

d) 3x+4y=25

(+ 5, 0) W 9 U (= 4, 0) AT TR EEgd @
T T R P

(a) ii2;+%:1
(L) x—:+%§=l
(c) {%+’;—:=1
{d) ;—:+{;=I




56,

&Y.
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{d)

The point whose abscissa is egual o its
ordinate and which is equidistant from
Al=1, 0) and B(, 5} ia

fay (1, 1)

(b) (2, 2}
(c) (=2, 2)

{3, 3

The difference of foral distances of any point
an & hyperbale ie equal to

fa) latus réctum
by  semidramsverse mis
fe)l trangverso axis

1}

gemi-latus rectum

What is the area of the triangle whosae
vertices are (3, 0), (0, 4) and (3, 4) 7

{a)
(b} 75 squere unit

B Boaré unit

ic) % eguare umt

(d) 12 square unit

A straight line pesses through the points
(65,00 and (0,3). The Jlength of the
perpendicular from the point (4, 4) on the line
ig '

(@) -

60,

{ 16 -~ A

What iz the indinatietn of the
ﬁx i — 1=4 ?

tine

(a) 30°
fb)  &ao°
(cy 185°

i 180°

What is the angle between the planes
=y =Pz+1=0 and x-dy+582-8a0"?

(a) %
®» 7
(e} %
(a %

i—K - o=
It the straight live —E—';'r = Fm}’n ety
n

is parallel to the plane ax + by + cz + d = 0,

then which one of the following i correct !

fal f+m+n=10

it

a+b+e=0

ic) E4~I-]'—+£=.~IZII'
i m n

sl +bm+en=20

(c}



54,

55,

D6,

57.

B-MCZ-M-L.28

el

e g, B Yo sar AR S ame d sl Ah &
et at-1, 0) 3R B, 8) F wW 7/ = &,
AR ?

(a) (1, 1)
(by {2, 2

fe) (=2,—2
{d)

Tl siftrRasa w Rem 5 oy & i el
o R ous W R p

Afiwrs &
Wl HE H
Fea 38 B
i &

(3, 3}

{a)
{b)
e}
(d)

(3, 0), (0, 4) 3 (3, 4) et aEy Frys = daber
FMEP -

& T s
7.5 of coE
9 afi T8
12 71 TR

T W v T (5, 0) 59 (0, 3) F IwET £ |
fosg 14, 4) ¥ 59 T R 510 T @ Bt g &
g7

{a}
(h)
ie)
(d}

J17

(a) =

by A7

—
|5 E‘E o]

(d)

[17 - A )

a8,

6l

W fAx-y-1=0 SR End ;
{a} 30°
) 817
(c) 185°

(dl  150°

HHOAH 2x-y—22 4 1 =0HR 3x 4y + 5z -8=0
AT TR RSP

{a)

=R i

| g

fe)

A

(d}

ol

Z— g

X - =
o WA Y@ Pl =
{ m o)

e ax + by + cz + d = 0 & WEEEY &, @
PrfmdiasvaimEm i

by a+b+e=0
fe} E*l:-%—vc-:ﬂ

{ m u
d) gf +bm+en=0




61. The sum of the direction cosines of z-axis is
(a]
bl 1/3
fe} 1
(d) 3

62. What is the area of the triangle whose vertices
are ((J,0,0)(1,2, 3rand (-3,-2, 1) 7
(a) 345 gquare unit
by 65 square unit
(¢) B square umt
(d) 12 square unit

63. What is the diatance between the planes
x—2y+2-1=0 and —3x+6y—38z+2=07
{al 3 unit
(k) 1 ounit
tcl 0
tdl  None of the above

4. If a line makes 30° with the positive direction
of x-axis, angle P with the positive direction of
y-axis and angle y with the positive direction
of z-axis, then whalis cos® B + cos® ¥ equal
ta ?
{a) 1/4
by 1/2
(el 5/4
1

B-MCZ-M-L25

67,

({18 — & |

6.

o,

What ahenld be the value of k for which the
pqualion 3x? » 3y% + (k + l}z?'+x—y+?.=0
represents the sphere 7

{a}y 3
by 2
(@) 1
(dy -1

Consider the following statements in vespert
of & function fx) |

1. Rxtis continwous at x = g f lim Au)
exists, o

2. If fix) i3 continueus at a point, Lhen

—— 15 alzo continuinua al that point,
fx)

Which  af
correct ¥

the above statements isfare

{al 1 only
{b} 2 oaly
{c) Both land2

fd} Neither 1 nor 2

Ir 2x° - 3}?2 =7, what is :—i equil to (y =0) ¥

2
(a) L2
2y

X

b} o
(b) %
z

el =
¥

(d) MNone of the above



&1,

64,

B-MCZ-M-LIS

=58 B i St 7 dee T # 2
{a)} @

{b) 1/3

ed 1

d) 3

(0,0, 0), (1, 2, 31 3w (— 3, - 2, L) ! a7 fonger
&1 d=%e o & ?

35 af g
645 @ gard

(a}
()
() 6 3=

(dy 12 a% P78

woEl x-2y+z—1=0 3R
~3x+6y-32+2=0 BATD g FWE ?

3 3o

135K

(<} ©

(d) I 7 4@ = T

(a)

(b)

oft ®r T x-ye B s By 3 500, v
A oews T & p ek 2w ) e e A
yBRTEE A, & cus 4oty FEU8 WER
g2

(a) 1/4
by /2
(e} 3/4

dr 1

85.

67.

(18 - A

k & 5 7= & o wliem
3K2+3y2+(k+1]zz+x—jr+z=ﬂ
e Frsfoe &= 2

T fx) & ey o Tefeiea & w Baw
1. % =a W fix) 999 ¢ gfc 3N Han o2
im fix) & 3" D |

i
2. Ui R B fx) daa 8 @ 5 W

m#%‘ft%in—ﬂﬁl
fix)

e el A sRmA T R e
{a] oW 1
ih) & 2
(e) 13K 2aH
(dy Hdr 1, T2
e 2x°—3y* =7, @& % oud W E
(y=0}17?
b4
-4
':ﬂ] QF_
X
() Z
p)
(6}
¥
(@) I % H B



68. Thederivative of | x [ akx=10
fa} =1
(B} is—1
{c} 120
(dy does not exist
X3 x>0
89,  Conzider the fonction fix) = !
Ix -2 x=2
Which ome of the following statements 1s
correct in respect of the above function 7
{a) fix} iz derivable but not continuous at
X =2
(b flx) 1s continuons but not derivable ot
x=9
{e} fx) js neither condinuouns nor derivable
alx =2
(d) fix}is conlinuous as well a5 derivable at
Fo=H
0. Consider the following statements |
. | .
L lim &ain = does not exisi
x A0 X
] o1 _
2, bm xsin — exists
w— 0y ;4
Which of the above statements is/are
eorrest 7
fa} 1 only
(b) 2 only
i) Both 1 and 2
(d) Neither | ner 2
B-MCZ-M-LZ5 | 20 -

71,

V2

73,

4.

Al

m X — ta -
s equal to 7

What is  lim
x—0
ta] 0
{by .1
(el —1
(dy 1/2
—f1+x
What is  lim Lowde equal to 7
x—+ 0 x
(a) 1/2
(b} —1/2
(e} 1
fd) =1
If y==m(ax +b), then whatis — at
" dx
% =——, wherea, b are constants and a=07
a
(@) 0
thy -1
(&) sinfa—1b)
{dy sinip +B)

What is the range of the function

X
ﬂx}zu,xzﬂ?
X

Set of all real numhbers

(a)

(b} Set of all integers

&) -1, 3

(d} {-L 0,

If y=x", whatis % at ¥ =1 equal to.?
ta) 0

by 1

ey -1

(dy 2



B,

69.

T0.

B-MCZ-M-L2S

x = 0 R | x| & Haoad
12

-1#

o#

@ e o #

[a)
(h)
(o)

(d)

. x>2

w frar #ifse |

x<2

HeH fix) =
Jx =1,

TE T 5 oW o Peefolem mu A @
P9 o w8 2

(a) x =2 fx) I@merd § fog waa 8 2
by x=2WW fix) v & g aaoema =8 R

2= 29 i) F M d@on & 2k 3 @ s
3

(e}

¥ = 2 fix) 777 3R 9w & I sEsrmE
2

(d)

Frieriias was WX faam ifae -
1. lim sino = sfaa @

=0 i
9. lim xsin — @ 3w P )
¥ ¥

Iudts Byt § | B8 e 88 2
Har 1

BT 2

13k 2 290

ia)
()
(o)

(d) FALIDL

T1.

72,

T8,

T4,

T

[ 21 - A)

fim 51111—1:,&_}!:'2_ ﬁ‘ﬁH&T m% 5
W= 0 x

5 YRR
1
¢ =1
(f) 1/2

im LTV e a2

E Sl ®
(Bl 142
(b1 —1/2
el 1

(f) =1

tfﬁ.’y=sinl’_ax+b],3’l'tﬂf$ﬂaﬁ? by & o

b d.‘E.
aatﬂ.?-‘ﬁt:r.z——lﬂ—:'z Reeen 2 7
: a dx

al O

b} -1

£l =inla —b)
d} sinfz + b}

U, T e, SO o, S s |

=+

Terd f{xl=m,x;ﬂ] FoffmrEn g ?
b 4

) W IS TRl & T
by I qEtel @ weg

) LY

(@& 1-1.90,1)

-

M ov=x"g @ x:lm%ﬁmﬁam%?
a)] O

by 1

) -1

1d)y 2




76, The function Hx) = xf —4x, x € [0, 4] attains |78. What is the differential coefficient of log, x 7
minimum valne at

@ x=40 a
(hy x=1 by 1
fey x=2 (el X

%
d) x=4 o

77. The curve y = x&* has mimmum value equal

5 2
80, What is J'-E‘l“ equal to ?
(a) 3 e
e
n
B = a5
i} -6 n
hl =
) 4
d)y &
T
) E

78, Consider the followin% statements ;

(d) Nona of the above
1.  The derivative| where the funection

attaina maximal or minima must be
Zer.

2. U a function is differentiable at a point, p g
then it must Be continuous at that |B81- What is j(x +sinxjdx egualto?

point. -4
Which of the above statements is/are correct ? A
{a) 1 only LU
(b) 2 only ey 0
ley Both 1 and 2 (d) 1

(d} MNeither 1 nor 2

B-MCZ-M-L28 {22 - A)




76. oA fix) = x> - 4dx, x e [0, 4] %?rqusrﬁrr 79. .log, x BT HEH NG T B ?
W W T R P
al 0
el =0
by 1
HJ} I::I
6 =
e} x=2 %
{dy =
d) x=4
77. W y=xef T AW O oA HawE &P g
‘|80, jg"_ﬁﬁﬁsw%?
1 w4 d
(a) - = 0
| =4
1 ' n
{b) E ’ . | {al 7
c) -= n
fh} —
@ e 3
{c) %
78. FrfefRen sy w fax 6w

L o sl A | @ SR AR

R FEEEA P O B ARE
2. ﬂﬁ%ﬁrﬁgﬂﬁémm%.ﬂ

79 frg ® 3@ Tow & @ Tk | i g

81. I[xhsinxzdxﬁwﬁsmﬁ.?
Fudfes w1 8 SR wE 8 ¢ =
(a) &I ) , (a) a
by a2 (b} 2a
@ 13k 23 | @ 0
d) Faade @ 4
B-MCZ-M-LZS { ;?3 - Al




i
82, Whatis J'mi & sguedin? g
0
fa) 1
ib) -1
ey 0
d) =
83, What s fe'f‘“‘ dx egual to ?
(a} x"¥ig 58..
() —xe* ¢
£y z+e
@
(d) g
2
where ¢ is the constant of integration,
X
¢ sin5 X m:-:& b
84. Whatis J. % - dx equal te ?
% * B
g
4
. (=) 2
n
(w 3
R
fe} g
dr 0
B-MCZ-M-LZS | 24 - A )

What, ie e egnal 1o

xinx

tal Imlnx) e

(b) Inx+e

(e} Unx+e '
(d) Nane of the above

where ¢ is the conatant of integration,

What 35 the area of the region enclosed by
y=2)x|andy=4a7

{a} 2 sguare anit
b} 4 square unit
fel 8 sguare unil
fd) 18 square unif

What is the area of the parabola v? = x
bounded by its latus rectum ?

{a) - square umit
13 ™ '

I
(b} L sguare unit I
)
i I
(e] = sguare unit i
@l Mone of the above



{a}
1))
le)

(d)

a3, Ie’“ dy Ry T d 7

L
3]
84, )'

(k)
()

td)

iR EE w3

0

B-MCZ-M-LZS

B,

B7.

{26 - A}

J' A e qqaz £ 7
xinx

{a] fnilnxl+se

bl Inzsc

el tin X% + ¢

(d) Fuges & o T

B ¢ wHRTEEA- e

y=2|x| 3Ry =47 fag 43 3w

feam g 2

(o) 2 &% 7o
by 47 5B
{c) Ao anE

(dy 16 3% T6%

I e F ey WEeg v = x @ S

i ]

1
@ = Eullo 3t
(b E‘éaﬁm

fe) %-ﬁmﬁ

@ s A % s g



88. The derivative. of sec?x with respect to
tan® x is
faj 1
by 2
(¢) 2 secxtanx
(d) 2 eec? xtanx
89, The differential equation of the curve y = ain x
ig
1:12 d:,r
+ =0
(a) T y - dx
dajr
(h) e 3 + y=1
dﬁ
{{:} E:: —¥= ﬂ
2
(d) :x% +x=0
80. The degree and order respectively of the
: ‘ . dy 1
o1 t o ——
differential equation ix " xeyel are
fa)y 1,1
by 1,2
[ﬂ'}' 2: 1
d 22
B-MCZ-M-LZ5

126 -

B1.

2.

A}

The general

What iz the degree of the differential equation
5 .

4 3
[EL.E] s&y
dx*i [1!{3

{a}) B

sdg—sﬁ

+ 5=07

by 4
(et 3

(d) 2

solution of the differential

; dy i
equaty — =
q ot o + ¥ s

{a)

Ry =10

where ¢ ig d4n arkitrary constant,

What iz the area of the triangle bounded Yy
the ¢gides x =0, vy =0 and x+ vy =27

{a) 1 pquare unit

(b) 2 square unit

e

4 pguare unit

(d) 8 square unit



88, tan®x & AU sec? x T IETAA R R P 91, | aER THETT
3
ta) 1 d‘!}r 5 - ddy dﬂy dy
[lax_‘i] —5:;:1{_34'6§— a""-}lﬂ
by 2
B UT R P
e} 2secxtanx
(4) B
(d) 2 sec?x tan x
(b} 4
e} 3
89, @B y= ginx T ITEE GHIS0 T # 7 & 2
al dy '
(@) ﬁ”'&?”"ﬁ 92, mmxgww ] BT N
g
d4y
by S 4y=0
L dxi+y (a) xyv=c
(hy x=
dz_'.r &
[eh I""—z—'jr=ﬂ
dx ¢) x+v=c¢
dgy ':d}. x2+y2=c
(d) —2 4x=0
dxﬂ
FET ¢ BIE WeE FW F |
90, mm%.;ﬁ‘mammm 93. |9 x=0, y=0 3R xey=2 3 Rag
=)
i fog & e R &
@ 11 (a) 1o 3o
1,2 (b) 27 gerd
@ 21 CIELE
(d) 2,2 () 8 Tf sE

B-MCZ-M-LZS . [ 27 - A )




94. The general

B-MCZ-M-LZS

golutien of the Jdifferential

) dy .
tion En[—-] +x =0 i8
P dhx i

{a) y:E'_x+c
b) y=—€e"+¢
{c) y=e*+c

(d) _!i'-_-—ﬁx-l-l:

where ¢ 1a an arbitrary constant.

—¥ ; g -2 —
If § is perpendicular 46 both o= and ¥
s M Tk . A A n
where ¢ =k and ¥y = 21 +3j + 4k, then

%

. .
whet is f equal ta ?

F .9 Fad
(a) 31 +2)
A [
thy —3i +2j
~ A
e 21 —3j

™ "
(d) -2i +3j

96,

BE.

{28 ~ A Y

| ) = :
Mor any vector o , what is

A A AA e

— 2 A
foe LiM o+ (o +j)) +{e -k)k equalto?

._?
la) o
by 3o _
_:,
ey — o
ere
(d} 0

a =
if the magnitnde of a »bh  equals to
= .
a . b, then which one of the following i
rorrect ?

— =%
'‘a) @a =bh

a ¥ _}
b} The angle between 2 and b is 45°

—3 —3
e a iz parallelin b

s

—
4d} a 1s perpendicular to b

f 13 =42, |5 |=+3 and

. 'E} +3:_: | = JB_ then what is |? —'l:l_!L |
g#quzl to 7

fal 1

bl 2

fe) 2

id) 4




dy _ =\
94, mmh[ﬁ)ﬂ-x-ﬂ BT T TN |98, Ry whw o fre,
§? L

— =3 AA L iy
(o0 i + (o0« i) +#fa . kik 598 s
27
fa) y=eF4¢
_*
fal o
] y=-e4¢ -
tbl 3 w
o
fe) w=e"2y e) —u
_',
(dy 0

(dl y=—e¢"+c¢

T ¢ TE W R 2 | " il
99, WE a xb FTEEHO a . b T TECEL A

e s A oo e S # 7

s —
fal @a =bh
: — - A
95. IRo R T B s B TG =k R - Vi O S W
A, A — .
ﬁ??=2?+3j+4k.a‘rﬁ}ﬁﬁﬁ$w%? () a,b ¥R E
s
) Wl a,b >agmEd
(a}l 31 +2j
log, @R |2 =42 | b | =43 3k
— 33 ﬂ —ry —3
o =i |2 +b |=46 @] = b | Frad e
g
@ 2i-3] () 1
b) 2
| A ‘ fe) 3
(d) =21 +3] a4

B-MCZ-M-LZ3 {29 - A )




99. Which ong of the following verctors iz normal
tothevector i + ) + k7
A " A
(a) 1 +j-k
A A A
b i-j+k
~ A
) i-j-k
{d} Nons of the above
L fy
100. If © i the angle between the vectors 4 (j — k)
A A .
and i + j + k&, then what is (8in 6 + cos @)
equal to ?
(&) 0
1
(h) )
e} 1
@ 2
101. The average marks obtained by the
studentz in a cless are 48, If the average
marks obtained by 25 boye are 40 and the
average marks obtained by the girl students
are 48, then what is the momber of givl
students in the class ?
{a} 15
mb 17
(e} 18
d)y 20
B-MCZ-M-LZS

LD,

103,

104,

104.

{ED—LJ

Marks obtained by 7 students in a subject
are 30, 55, 75, 90, &0, G0, 39 The number
of sludents securing marks less Lhan the
mean marks is

tal 7
(b} @&
(e} &
(d} 4

Vanmanee is always  independent of  the

change of
(a) origin butl not scale
{b} scale only
(e)

td)

both origin and scalc

None of the above

If two lines of regression are perpendicuter,
thent the egrrelation coefficient r is

fal 2
1
b =5
{b) 3
el O
{d] Nowne of the above

The standard deviation of the pbservations
5, 5,5 8 5 is

(2l O
(bl 5
{er 20
(d) 25



9, FrfiRer SRt A3 ahew T, 90 1 4§ |+ k |102. Tl fawr & 7 fendi 7Ry S 26 30, 55, 7.
% st d ? '- 99, 50, 60, 39 & | pE Paid & vem wr &
' i s Iam T rAE I SR D 2
G fai-k ta} 7

(b) &
WY e 4k © 5
@ 4
te} ?“.;-ﬂ
1038, oW g
d Tg® f 4 o = (a) Tfag & et A @ diey o &
afiads | o =4 B #

100, o R 4G ~ KoK 14+ k B (b) e Rt ¥ aRe ¥ v A 2
TR, R isind+coa ) BTHRECE? (0} TR R w2 B el ¥ W
Gii
ta) O )
(@) 39w § ¥ B
1
I .
2 | (204 aft 2 wrowwr Tal spm A W ey IS
{ ' riderd 2
¢y 1
(d) 2 (a) 21
(b) E
ey ©

10, & s 4 Gl o it e 48 2 1 ol
25 wead @ sad s 40 o T w ), (@ T R F IR
s 48 &, @ en ¥ el S e Fr g ?

' 105, 3% 5, 6,5, 5, b @ Whd TagaA W ?

fa) 15

(a) 0
thy 17

by &
(e} 18 (@ 40
d) 20 {d} 23

B-MCZ-M-LZS { 31 —=




106.

107.

108,

The marks obtsined by 13 students in a
test are 10, 3. 10, 12, 8, 7, 9, 6, 7, 10, 8, &,
7. The median of this data is

fa} 7
(b} B
) B
(dy 10

Consider the following statements -

1.  Both wvariance and standard deviation
are measures of varmability in the
population,

2. Standard deviation is the esquare of the

VATIANCE,
Which of the above statements isfare
correct ?
tal 1 only
(b} 2 only
(e} Both 1and 2
(d) Neither 1 nor 2

The harmonie mean H of two numbers iz 4
and the arithmetic mean A and pepmetric
mean (G satisfy the eguation 24 + G? = a7
The twa numbers are

(a) 8,3
(b} 9,8
cy 12,7
(dy 8,1
B-MCZ-M-LZS

108,

112,

[ 32 — A )

Consider the following frequency distribution |

Clrss interval |0-10|10-20| 20-20 | 30-401] 40-50

Frequency 14 X 27 ¥ 15

110.

111,

If the tatal of the frequencies iz 100 and
mode ia 25, then which one of the following
is correet 7

fa)l x=2y
(b)) Zx=y¥
el ®=%

(dl x=3y

[ how many ways can the Jetters of the
word ‘GLOOMY' be arrenged so thal the
two O's should not be together 7

() 240
(b} 480
el GO0
dy 720

Consider 2 random experiment of throwing
together a die and two coing. The uassociated
sample space has

{2} 8 points

ib} 12 peints
ic) 24 points
(d) 36 points

in throwing 4 six faced dic, let A be the
event that =2n even number gegurs, B be
the event that an odd number peeurs and O
be the event Yhal a vomober preater than
3 oeccurs. Which one of the following is
carrect 7

fal A and C are mutually exelusive

(b) A and B are mutvally exclusive
e} B and C are mutually exclusive
(d) A, B and C are mutually exglusive




108, et vteror # 13 faenfill gro wi sis 10, 3, 10, |09, Frffsa siERa-dc o faR A -
12,9,7,9,6.7,. 10,8, 8,7 % | =0 oa o AE®S

Fad e f =R | 0-10]10-20|20-30[30-40|40-50
ARERAT 4] x | 27| v | 15
fa) 7
afe aaRaT & AMBE 100 & 3R agee 25 9, @
by 8 FarfEn A A s mos vl ¢ ¢
. fa) =x=1%v
(b 2x=yw
td) 10 e} =x=y%
{d}f ==23y¥

107. FFfEn S o o @

) 110. ¥ ‘GLOOMY' ¥ Rt wt foert ave ¥ oaelia
1L M e WEe e dEl, et @ o wryem B oy ad?

qRad=imar & 7 & |
fa) 240
2, T fOeE WRRm oS e e | (b 0
(e} 600
e TRl & Sy w2 & I
111. v wiRy 4R 3 foal 7 o O oo & ve
(a) a1 agfens wim W fax S | Ty wiee gk
(b) a2 et sl
a) AR
(d) FAT 1, A8 2 () 24f6sg
(@ 36 fag

108, 2 ¥l T e W 1, 4 99 T el | 1, o= T a9 @ e #, a9 diow BB o
ez A SR oI A G, SRR 24+ GF = 27 T & 3 & o A S, v vendi B am
T R | 22 e € 2 & we B 2w 3 @ 3 wen o® & mem ©

GG L Glh G e R = e i e

{a) 8, 3

—— {a) A3 C IR smafia #
B AR D oeRe s 8

(¢ 12,7 (¢} B3R ¢ orafe amEisa &

dy 3,1 (d) A, B IR C yraRs smath £

B-MCZ-M-LZ5 { 33 - r“- )




113. What is the probability of petting a sum of

114,

115,

I16.

B-MCZ-M-LZS

" (e)

7 with two dice ?

ia} 1f8

1/3

el 1712

d} 5/36
Four coine are ifossed simultaneously.
What ia the probability of getting exactly
2 heads ?

(a) 12

L.

(b} 1/4

ey 1/8

(dy 3/8

A hag contsing 5 black and 8 white balls,
Twa balle are drawn at random one after

the other without replacement, Wheat ie the 119,

probebility that both are white ?
{a} 1/28
{by 1/14

3/28

fd} None of the above

If A and B are any two events such that
P(A) = 0-4, P(B) = 0-3, P(A U B) = 0-9, then
what is thie value of F(A U B) egnal to ?

2

06

0-6

07

(&)
(b}
(¢)
{d)

| 34 -

118.

A )

A fair ooin iz foesed  vepeatedly, The
probability of getting & resualt in the fifth
toss different. from thosze opbtained the
firat four tosees is

1/2

1/32

in

{a)
(b}
ey 3132

@y 1718

If ¥ followws a binomial distribution with

parsmeters 100 and p = 1/3, then
PlX = ) 18 maxmuin when

0o =

fal r=16

th) r=23Z

¢} r=233

(d) r=234

Two nombers are successively drawn from
the set TF = 41, 2, 8, 4, 5, 6, T, Bl, the
segond being drawn without replacing the
first. The number of clementary evenls in
the sample is

(a) B4
(k) 56
{e) 32
(d} 14

The binomial distribution has
{a}
(k)
{e)
iy

anly one parametar
two parameters
three parameters
foare parameters



11§. =7 e A 7 T QR 9 33 9

114,

115,

(by 173

o snfirear e & 2
(2] 1/2
(b) 1/4
(e) 1/8
fd)  3/8

(a)] L/6

ey 1112

(dy  5f36

R Tams v I 30w o £ | é’ma‘r*ﬁﬁ'ﬁmﬁ

TG E P 117,

fft s 4 5 @ i 3 wies R
girena fe aghes w7 ¥ &) i
Port @t & | 25 5 4hg 29 8t
#7

(a) 1/28
b 1/14
(e} 3/28
(d) IRF A G B

116, R Ak BeE Al o vERE&

P(A) =04, P(B) = 03, (AU B) =
PIAUB) BIAR ®&TE ?

(a) 02

(k) 05

tery 06

W 07

B-MCZ-M-L23

&9,

Wy T

118,

L]

ad |y20,

(36 - A)

3 v Fomer aNaR 3T S § | el 3o
& Wre afiey w3 | e ekl |4 fie
K ie i S 12 o)

{a} 172
) 132
(cd 31/82

(d) 1/16

TR X, v n=10dR p= 13T e =
SO o &, W PX = 1), r 5 &9 99 &
sitram 2T 2

ia) r=16
(b) r=32
) T=33
() r=234

. W U =11,2,3.4,5,6 7 23 2 et

TRAR, T8 e weh e B REr v
&%d 0. Fiorn 3 & | giaeel § v e
ol oo o

ia) 64
by 58
{ey 32
@ 14

fouz dea

(a) aT PE WEE §
(b 2 ym E

() 9 oea f

@) R yae E
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